Name:

Date:
Subtraction
1) 67 -45= 2) 46 -24 = 3)85-33= 4)28-12 =
5)77 - 48 = 6) 50 - 25 = 7)92-37 = 8) 100 - 34 =
Joseph has 96 cards. Louise has 48 cards.

a) How many more cards does Joseph have than Louise?

b) How many more cards does Louise need to reach 100?

) There are 150 cards in the set. How many more cards does Joseph need to
complete the set?

Spreadsheets Canteen information for 2005

1 Month  Days Open Costs Income Profit
2 Jan 6 $1289 $2405 $i116
B Fcb 19 $3914 $7600 $3686
4 March 20 $4567 $8942 $4375
5| April 20 $5009  $9465 $4456
6 May 18 $3970 $4879 $909
7| June 17 $2856  $5748 $2892
8 July 19 $6880  $9048  $2168
9| August 20 $7750  $7865 $115
10

a) For how many days was the canteen open in April?

b) What was the profit in July?

¢) What was the total profit for January and February?

d) Colour these cells in red. (C,4) (A7) (E,9) (B,2)

Score
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